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SGH 3W Chemical Reactions Review
Fill in the blanks (use the following list)
aqueous catalyst complete combustion decomposition double displacement
incomplete combustion law of conservation of mass  precipitate single displacement  synthesis
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B. True or False (If the statement is false, rewrite the statement to make it true)
11. Francium will displace sodium in a single displacement reaction.
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12. A ca‘rclysf is used up in a chemical reaction.
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13. Most chemical reactions occur wnfhou‘r needmg To add any’rhmg extra to them.
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16. Combus’non isa Type of synthesis reaction,

f{//: 17. A non-metal oxide dissolved in water will produce a base.
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C. Similarities/Differences (describe similarities/differencés between each pair)
18. synthesis/decomposition 19. single displacement/double displacement




D. Multiple choice (Choose the best answer)
22. Which of the following metals is the most reactive?
a) Mg

b) Al

¢)Pb

23. Which of the following would make an acid when dissolved in water?
iﬁ}sulphur trioxide
b) magnesium oxide
¢) aluminum oxide
d) copper(I) oxide

24. Which of the following would make a base when dissolved in water?
a) carbon dioxide
b) sulphur trioxide
(c) sodium oxide
d) nitrogen dioxide

25. What type of reaction occurs between NaOH + HCI?
a) synthesis
b) decomposition
¢) single displacement
@ double displacement

6. What type of reaction occurs when NaHCOs; is heated?
a) synthesis
;’Ij} decomposition
¢) single displacement
d) double displacement

27. What type of reaction occurs between Cr and SnO?
a) synthesis
b) decomposition
(¢} single displacement
d) double displacement

28. The name of MnO is
a) mercury(IT)oxide
b) magnesium oxide
¢) manganese(I)oxide
@ manganese(II)oxide

29. Which pair of names correctly names PbHPO;

a) lead(IT)phosphate, plumbic phosphate

b) lead(IV) phosphate, plumbous phosphite

c) lead(II)biphosphate, plumbous biphosphate

d) lead(IT)hydrogen phosphate, plumbous biphosphite




E. Naming
30. (Comp
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chart below
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F. Balancing and Types of Reactions (write out the acid or base product and then balance the equation)

32. ___ KO+ ____H:,0p > Type:
33, NaOg+ ___ H:0q > Type:
/)*} g ;{}%’//
34, oL Mg+ Kis@g > Type:

(complete)

35. C3Hgg) + 2 Oz >

fﬁ«‘%

3£ 36. zinc (s) plus (aq) Ieadiﬁi'jrra’re yields (aq) zinc nitrate plus lead (s). Type:

ot iNA L 5 A
39, 4 KCIO3(5) > __f‘_{ KC’(S)*' = Og(g) Type:

9 ~ ~ -
40. _2_ Mg(NO3)a(q) + _ S K3POseqy > ___ Mga(PO4)zs) éKNoa(aq) Type: 2.0

=

41, 0 HClug + ___ Ca(OH)ztay > __ CaClageq + 2 H0y,




